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. Findthevalueol . S R R Nod

Y
() 94 + 6.82 . - Sy 2

| M .
Ansver: N8 22 it | i)

(i) 9.4 - 6.82

“.

| "y .

Answer: ......... g._,—.:.:/...__._.._ {2}
(i) 8.52 x 0.3 f
' ;
i

SRS I S P

Answer: ‘—DC i by ThE

 (iv) 8.52 + 0.3

Answer 23.F . | ~
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a " . 3 . ¥
(a) The Captain’s new yacht costs £48 000

He £
Pays ¢ of the price as the first payment.

(i) How much is 1he first payment?

2 {43,000) * 19200
-) %

. o |
L ~ Answer: £.13,200 I

* The remainder is paid monthly in equal amounts over the next 24 menths.

(if) How much does the Captain pay each month?
28,800 =200
29
Answer: £ 1200 . L
(b) Manuel uses a whole carton to fill 25 glasses each with 140 millilitres of
. orange juice.
How many litres did the carton hold when full?
25(140) = T560 M= 3.5

~ Answer: = 15 SR litres

(c) Billy’s Bistro adds 15% to the price of a meal as a service charge.
The price of Marcel's meal is £53 ViR
How much is added as his service charge?

55(.15)

Answér: £ 7Q5 - e S RS

(21

2)

(2
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| 3. _{a) Write 0.8 as a percentage. | %
Aetior Bl T, e % (1)
{b) _Write 7% as a fraction.
7.5 - 15 . &,
oo Rives) .'\‘1"0__
Answer: g o5 ST P— - 2)
(c) write 2 as a decimal.
PRSI o, I IF ) TR V—— (2)
(d) Robin has £2.50 in his pocket.
- He spends 75 pence On a bag pf__phips. |
What fraction of the £2.50 does ha spend on chips?
Um0 0 dpa - 1o
ASWEF Tt 0 dartumsmsensissssersaess (@
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(a) R 6.15 % 196
| - 815196
42.7

(i) Rewrite tho caleul | '
g arculation . - _
1 significant AL ‘ shown above, giving each number correct to 7

Answer: S % .200

W30 (1)
(i} Find the value of your answer to part (a)(i).

Answer: 30 RNC S |

(b) It costs‘9_.73 pence per mile to travel on Rocket Railways.
- Estimate the cost of a 145 mile journey on Rocket Railways.
145(Q, 7j) “[410.85 pance
Answer: £ H’” ................................ (2)

5 T - Turn over



(a) Calculate the value of

()8—3%4+6

ANSWET: Pvremsssssinssemmsens | siasssrsssissssesss  (2)
(i 2°
O
Answer: 8 mne REp—) |
(b). (i) Write ’324---as the prodﬁct of prime factors', using indicés.
224
[ .
- 2X1Q2
A
2x8)
n R
Qxg ;
” - N
Answer ¥ st £ I et (3)
. (u) Hence, or atﬁér—wase,-cak:ulate the square root of 324
\/') X3t = 2(5 1= 29) 7 1§
ARSWET: L Bioioiies emevesemssessasessessanie (1)

—~ - o e e el atalel ¥ . . -



o |
6. (a) Simplify
o @sktxap

i)

v-_Answer.?.’.@f.;. ..... S i (2) L (
iy BCradS
o %
1247
[
Answer: e i @) 7

(b) Remove the brackets and simplify. -
3(3p — 2q) — 4(p + 2q)

qp_ Gq_ +p - 8(2 o » | :*.l'._ :

~ Answer: 5‘0“{"{0[/ e 1 il 3)
| (c) -Factorise{complétely
8x8 + 2x?
22 (4 xS 1)
~ Answer: ..Q“QE;.%.L‘T.Q&F:..‘H) (2)-
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2. When a=3 b="2 ¢=74
find the value of ' '

() 2a+ ¢
6=+
An'swer:f? ............ T e (2)
iy ab—¢* L e R I 1
- ¢ - lig)
gl ¥ |
ARSWER: o Pevneen ., @

7(5) o R RI  TE S R )
Answer: 2.‘1‘ ...... ........ ....... . @ |

(iv) —3

—

ARSWET T revse diramsaseee e —— (2)
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8. To c
" yoi On\l/ert temperaturo from Celsnus sca!e (°C) 1o Fahrenhelt scaie °F)..
- youmulliply the Celsius temperature by  and then add 32

(i) Vyraat is the FFahrenheit equivalent of 55 °C?

q (5%) {3
5

 Answer: 15J ,. ..... “_F (2)

(i) What s the Celsius equivalent of 77 °F?

R R 5= T
.5 .
9 245
fxe15,
02 =225 R R T
2295 ANSWER ..cvvssslomvmsannns sy 7G5}
9. The nth term ofasequénce is -2n2——1‘ o
() Write'down the twelfth ferm of the séquence.
2012)7 -1 =
-
Answer:lﬁ.?..:.’;..‘ e IS AR

e gt il e RIS ST T

(i) What is the value of n when the nth term is equal to 799?

on2-1s 799

2n*=+ Boo
n?=+00
N 20 |
| Answer n—'ZQ b (3)
. S.A. 2_835326' ‘rg N o - Turn over



10. Boris enters a triathlon which consists of swimming, €
(i) He swims 2000 metres at 80 me'tres/minute.'
How long does the swimming take?
T=D = 2000 * 22
5 B0

\Va

| o
(i) He cycles f6r 45 minufe{é at40kmh. .
How far doeghecycle'a : o

S p=5xT = 40X ﬁ:BO
LT T fole!

' An'swér: 50

(iii) He completes the 8000 m -ruh in half an hour.
At what average speed does he run in km/h?

'\5;T.D = __&:'IG
T 5 -

IIIQ

(iv) Without counting the lengt
Boris’ average speed for th

ycling and running-

el osam  F@semEmES

.......

A5z 243048 = d2 <24

AREWer: 8. v S T .. km/h

h of changeover times between everits, what is
e complete triathion in km/h?

25 4 45 4 3O (oo
Go : co GO Go
ANSWER: 2 e sirerncsssiinns kn/h

S.A. 2835326 10
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11. (a) Comple : _
plete the diagram so that it is symmatrical about tho line AB.

» C’

N

NI

{b) Complete the diagram so that it has rotation

the point P.

—

5.A. 2835326

i1

(2

al symmetry of order 4 about

(2)

Turn over






13. (@) Caleulate the size of each of the angles marked a, b, cand d

Y

not to
scale
Answer g T2 0 L e o 2)
“"b ' o Answer: b = 5' e Y o '(1)‘ :
| | Answer: ¢ = |7 o (2) ‘
Answer: d= 287, | P i | o (1) | _

(b) ABCis an lsosceies triangle with AB = 8 cmand AC=BC=8 cm.

(i) Showmg your construction lines, draw tnangle ABC
The position of A has been marked for you.

o B '2)

(i) Measure and write down the size of angle ACB
Answer: ang!e ACB = 85 )
Turn over
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14. For 1his question you are tofd that
// 11 pounds (Ib) are ecuivalent
y

/Iy How many kilograms arc e

to 5 krlograrns (kg)

quivalent to 55 pounds?

i = 5 k’q
N .

55 Ib

X5

-Answer:Qﬁ.._KQ)..... i kg (1)

(i) On the grid opposrte draw a graph to convert pounds to kilograms for , g
masses up to 55 pounds ' (@

(ru) Use your graph to answer the foHowrng questions, showrng clearly where
you take’ your readings. - -

(a) The baggage allowance on Orbrtal Arrways is 15 kg
What is the equivalent mass in pounds? .

s LA A b (1)

(b) A prize turkey has a mass cf481b. o _
What is the equivalent mass in kilograms? - -
Give your answer to the nearest kilogram.

s
\\
"~

Answer: 2l . [P kg (2)

S.A. 2835326 ‘. 14
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w

N

aw the fourth patterm.

15. Here are the first three patterns in a sequence with space to dr
m 1 plttorn 2 pattern 3

pattern 4




